
CCCCaaaapppprrrriiiiccccoooorrrrnnnn    RRRRCCCC- Option Parts - 

Made in Italy

13

cod. Cap40079

cod. Cap40057-94 cod. Cap40057-86 cod. Cap18141

2x       2x
SOFT           HARD

cod. Cap40033-S cod. Cap40033-H

SOFT         HARD

2x       2x

cod. Cap40071-S cod. Cap40071-H

0,22              Cap29176

0,24              Cap29175

0,25              Cap18106

0,26              Cap29174

0,27              Cap18107

SOFT
 
 
 
 
 
 
 
HARD

M3 Aluminium screws

M3x4mm    cod. One29266
M3x5mm    cod. One29267
M3x6mm    cod. One29268
M3x8mm    cod. One29269
M3x10mm  cod. One29270
M3x12mm  cod. One29271
M3x14mm  cod. One29272
M3x16mm  cod. One29273

M3 Aluminium screws

M3x5mm    cod. One29276
M3x6mm    cod. One29277
M3x8mm    cod. One29278
M3x10mm  cod. One29279

cod. Cap40121 cod. Cap40124
30x30 FAN

cod. Cap40081

XHARD        XXHARD

2x       2x

cod. Cap40431 cod. Cap40432

http://capricornrc.com/capricorn/it/ricambi-lab-f102/3643-lab-f102-pomolo-batteria-.html
http://capricornrc.com/capricorn/it/optional-lab-f1/2970-kit-piastrina-ala-anteriore-e-colonnina-alu.html
http://capricornrc.com/capricorn/it/ricambi-lab-p01-pan-car-1-10/2984-asse-post.html
http://capricornrc.com/capricorn/it/corone-e-pignoni-modulo-64/2851-corona-differenziale-sfere.html
http://capricornrc.com/capricorn/it/corone-e-pignoni-modulo-64/3749-corona-differenziale-sfere.html
http://capricornrc.com/capricorn/it/optional-lab-c03-evo/3414-peso-zavorra-12gr.html
http://capricornrc.com/capricorn/it/ricambi-formulino/3726-molla-avantreno.html
http://capricornrc.com/capricorn/it/ricambi-formulino/3728-molla-avantreno.html
http://capricornrc.com/capricorn/it/ricambi-formulino/3685-molla-avantreno.html
http://capricornrc.com/capricorn/it/ricambi-formulino/3686-molla-avantreno.html
http://capricornrc.com/capricorn/it/ricambi-formulino/3794-molla-lat-std.html
http://capricornrc.com/capricorn/it/ricambi-formulino/2844-molla-lat-std.html
http://capricornrc.com/capricorn/it/ricerca?controller=search&s=29176
http://capricornrc.com/capricorn/it/ricerca?controller=search&s=29175
http://capricornrc.com/capricorn/it/ricerca?controller=search&s=18106
http://capricornrc.com/capricorn/it/ricerca?controller=search&s=29174
http://capricornrc.com/capricorn/it/ricerca?controller=search&s=18107
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3681-vite-m3x5-testa-speciale-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3535-vite-m3x6-testa-svasata-alu-6pz-oro.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3682-vite-m3x5-testa-speciale-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3530-vite-m3x4-testa-special-bottom-alu-6pz-oro.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3462-vite-m3x5-testa-bombata-alu-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3461-vite-m3x6-testa-bombata-alu-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3531-vite-m3x8-testa-special-bottom-alu-6pz-gold.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3460-vite-m3x10-testa-bombata-alu-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3532-vite-m3x12-testa-special-bottom-alu-6pz-oro.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3533-vite-m3x14-testa-special-bottom-alu-6pz-oro.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3534-vite-m3x16-testa-special-bottom-alu-6pz-oro.html



